‘ap?ﬁl&/;g*

g = WK = 25X 7 =] g
E i e iE R o)
B &
21 — - = *ran® i
HHA 4 H28H 4 H29H 4 H30H 5H1H
- nE - BHE = ESVIES
anlH “iE @ BiE @ HiE @
FBE =k 250 ~ 300 =k 250 ~ 300 =k 250 ~ 300
FH LLEHA 100 TERBE 60 BEFA R 95
B35 T REHE 120 EIRAN R 85 ThtmEE 250
BIZ (D) FHREXE 85 it = 95 R 70
BIZR(z) =P 85 TR 22 85 B 5 3 85
2 HREES 300 NGRS 250 LIZEE A5 250
KR /NEH 1 whE 1 FiEPIIN 1
P VAN
=BT
ERRE(D) 6.0 6.0 6.0
SRASR(D 3 2.9 3.2
R 1.7 1.7 2.0
JKERFE (1D 1.0 1.0 1.0
HAEER(Th 2.7 2.6 2.9
E R 0 0 0
A& 48 (%) 50 51 49
EHE (%) 17 17 17
AS & (%) 33 32 34
HE(KF) 850 851 881

R S B & R - AR EATR L AR




